Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

Serdica

Bulgariacae mathematicae publicationes

Сердика

Българско математическо списание

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints. Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Bulgaricae Mathematicae Publicationes
and its new series Serdica Mathematical Journal
visit the website of the journal http://www.math.bas.bg/~serdica
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

SOME RESULTS ON α-PRODUCTS OF DISTRIBUTIONS

B. FISHER, A. TAKAČI

In the following, definitions 1-5 and theorems 1, 2 and 4 were originally considered using the real field. However, they hold equally well using the complex field and we will consider them for this case.

The following definitions and theorem were given in [2].

Definition 1. Let h_r be a distribution for $r=0, 1, \ldots$. We say that $h=[h_0, h_1, \ldots, h_r, \ldots]$ is a distribution vector.

If $h_{r+i}=0$ for $i=1, 2, ..., we write <math>h=[h_0, h_1, ..., h_r, 0, ...]=[h_0, h_1, ..., h_r]$, and if $h_i=0$ for i=1, 2, ..., we write $h=[h_0]=h_0$.

The set of all distribution vectors is made into a vector space by defining the sum and product by a scalar in the usual way.

Definition 2. Let $h = [h_0, h_1, \ldots h_r, \ldots]$ be a distribution vector and let φ be an arbitrary test function with compact support. We define (h, φ) to be the sequence of complex numbers

$$(h, \varphi) = ((h_0, \varphi), (h_1, \varphi), \ldots, (h_r, \varphi), \ldots).$$

Definition 3. Let $h = [h_0, h_1, \ldots, h_r, \ldots]$ be a distribution vector. We define the derivative h' of h by

$$h' = [h'_0, h'_1, \ldots, h'_r, \ldots]$$

Theorem 1. Let $h=[h_0, h_1, \ldots, h_r, \ldots]$ be a distribution vector and let φ be an arbitrary test function with compact support. Then

$$(h', \varphi) = -(h, \varphi').$$

Now let ρ be a fixed infinitely differentiable function having the properties

- (i) $\rho(x) = 0 \text{ for } |x| \ge 1,$
- (ii) $\rho(x) \ge 0$,
- (iii) $\rho(x) = \rho(-x),$
- (iv) $\int_{1}^{1} \rho(x) dx = 1.$

The function δ_n is defined by $\delta_n(x) = n\rho(nx)$ for $n = 1, 2, \ldots$. It is obvious that the sequence $\{\delta_n\}$ is regular and converges to the Dirac delta — function δ .

The scalar ρ_r is defined for $r=-1, 0, 1, \ldots$ by

$$\rho_r = \begin{cases} -1/2, & r = -1, \\ \rho^{(r)}(0) = 0, & r = 1, 3, \dots, \\ \rho^{(r)}(0), & r = 0, 2, \dots \end{cases}$$

The next two definitions were given in [4].

SERDICA Bulgaricae mathematicae publicationes. Vol. 14, 1988, p. 202-207.

Definition 4. Let f and g be distributions and let $g_n = g * \delta_n$. We say that the α -product fag of f and g exists and is equal to the distribution vector $h = [h_0, h_1, \dots, h_r, \dots]$ on the open interval (a, b) if

$$(f, g_n \varphi) = (h_0, \varphi) + \sum_{r=1}^{\infty} (h_r, \varphi) \cdot n^{\alpha+r} + \varepsilon_n$$

for all test functions φ with compact support contained in the interval (a, b), where $-1 < \text{Re } \alpha \le 0$ and $\lim \epsilon_n = 0$.

In particular, if $h_r = 0$ for r = 1, 2, ..., we simply say that the product $f \circ g$ of f and g exists and we then write

 $f \circ g = h_0$

on the interval (a, b).

It follows that this definition of the product $f \circ g$ is equivalent to definition 4 of

the product $f \circ g$ given in [1].

Definition 5. Let f and g be distributions and suppose that the α -product $f \circ g$ exists and is equal to the distribution vector $h = [h_0, h_1, \ldots, h_r, \ldots]$ on the open interval (a, b). We say that h_0 is the finite part of $f \circ g$ and we then write

p. f.
$$f \alpha g = h_0$$

on the interval (a, b).

The following two theorems hold, see [2] and [4].

Theorem 2. Let f and g be distributions and suppose that the α -product f α g and f α g (or f α g) exist on the open interval (a, b). Then the α -product f α g (or f α g) exists and

$$(f \underset{\circ}{\alpha} g)' = f' \underset{\circ}{\alpha} g + f \underset{\circ}{\alpha} g'$$

on the interval (a, b).

Theorem 3. The 0-products $x_+^p \circ \delta^{(q)}$ and $\delta^{(q)} \circ x_+^p$ exist as distribution vectors and

$$x_{+}^{p} \underset{\sim}{0} \delta^{(q)} = h(p, q) = [h_{0}(p, q), h_{1}(p, q), \ldots, h_{q-p}(p, q)]$$

or p = 0, 1, ..., q and q = 0, 1, ..., where

$$h_i(p, q) = (-1)^{p-1} \binom{q-i}{p} p! \rho_{i-1} \delta^{(q-p-i)}, \quad 0 \le i \le q-p$$

and

$$\delta^{(q)} \circ x_{+}^{p} = k(p, q) = [k_{0}(p, q), k_{1}(p, q), \dots, k_{q-p}(p, q)]$$

for p=0, 1, ..., q and q=0, 1, ..., where

$$k_i(p,q) = (-1)^{p-1} {q \choose p+i} p! \rho_{i-1} \delta^{(q-p-i)}, \quad 0 \le i \le q-p.$$

The next theorem was proved in [4] for real numbers λ , μ , but the proof is easily modified to deal with complex numbers λ , μ . The theorem is also rewritten using a more convenient notation.

using a more convenient notation.

Theorem 4. Let λ , μ be complex numbers such that λ , μ , Re $(\lambda + \mu) \neq -1$, -2, ..., Re $(\lambda + \mu) < -1$ and let $s = [\text{Re}(-\lambda - \mu)]$, $\alpha = -\lambda - \mu - s - 1$. Then the α -product $x_{\lambda}^{\lambda} \alpha x_{\mu}^{\mu} = h(\lambda, \mu) = [0, h_1(\lambda, \mu), \ldots, h_s(\lambda, \mu)]$, where

$$h_{i}(\lambda, \mu) = \left(\frac{(-1)^{i} \cdot \Gamma(\mu+1) \cdot \Gamma(\lambda+s-i+1)}{(s-i)! \Gamma(s-\alpha-i+1)} \cdot e^{\int_{-\infty}^{1} u^{s-\alpha-1} \rho(s)(u) du}\right) \delta^{(s-i)}$$

for i = 1, 2, ..., s.

We now prove the following theorem.

Theorem 5. Let λ be a complex number such that $\operatorname{Re}\lambda = 0, \pm 1, \pm 2, \ldots$, let q be a non-negative integer such that $\operatorname{Re}\lambda < q$ and let $s = [\operatorname{Re}(-\lambda)] + q + 1$, $\alpha = -\lambda + q - s$. Then the α -products $x_+^{\lambda} \alpha \delta^{(q)}$ and $\delta^{(q)} \alpha x_+^{\lambda}$ exist and

$$x_+^{\lambda} \alpha \delta^{(q)} = [0, h_1(\lambda, q), \ldots, h_s(\lambda, q)],$$

where

(1)
$$h_i(\lambda, q) = (\frac{(-1)^{q+i} \cdot \Gamma(\lambda + s - i + 1)}{(s-i)! \cdot \Gamma(s - \alpha - i + 1)} \cdot \int_0^1 u^{s - \alpha - i} \rho^{(s)}(u) du) \delta^{(s-i)}$$

for $i=1, 2, \ldots, s$, and

$$\delta^{(q)} \alpha x_{+}^{\lambda} = [0, k_{1}(\lambda, q), \dots, k_{s}(\lambda, q)],$$

where

(2)
$$\begin{cases} k_{i}(\lambda, q) = 0 \text{ for } 1 \leq i \leq s - q - 1, \text{ and} \\ k_{i}(\lambda, q) = \left(\left(q \right) \frac{(-1)^{q+i} \cdot \Gamma(\lambda+1)}{\Gamma(s-\alpha-i+1)} \cdot \int_{0}^{1} u^{s-\alpha-1} \rho^{(s)}(u) du \right) \delta^{(s-i)} \\ \text{for } s - q \leq i \leq s. \end{cases}$$

Proof. Suppose first of all that $\text{Re}\,\lambda > -1$. Then for arbitrary test function with compact support

$$(x_{+}^{\lambda}, \delta_{n}(x)\varphi(x)) = \int_{0}^{1/n} x^{\lambda} \delta_{n}^{(q)}(x)\varphi(x) dx =$$

$$= \int_{0}^{1/n} x^{\lambda} n^{q+1} \rho^{(q)}(nx)\varphi(x) dx = \int_{0}^{1} n^{q-\lambda} u^{\lambda} \rho^{(q)}(u) \left\{ \sum_{i=0}^{s-1} \frac{u^{i} \varphi^{(i)}(0)}{n^{i} \cdot i!} \right\} du$$

$$+ \varepsilon_{n} = \left\{ \sum_{i=0}^{s-1} \frac{(-1)^{i} n^{q-i-\lambda}}{i!} \cdot \int_{0}^{1} u^{\lambda+i} \rho^{(q)}(u) du \right\} (\delta^{(i)}, \varphi) + \varepsilon_{n}$$

$$= \sum_{i=1}^{s} \frac{(-1)^{s-i} n^{a+1}}{(s-i)!} \cdot \int_{0}^{1} u^{\lambda+s-i} \rho^{(q)}(u) du (\delta^{(s-i)}, \varphi) + \varepsilon_{n}$$

$$= \sum_{i=1}^{s} \frac{(-1)^{q+i} n^{a+i} \cdot \Gamma(\lambda+s-i+1)}{(s-i)! \Gamma(s-a-i+1)} \cdot \int_{0}^{1} u^{s-a-i} \rho^{(s)}(u) du (\delta^{(s-i)}, \varphi) + \varepsilon_{n},$$

where $\lim \varepsilon_n = 0$. Equation (1) follows for $\operatorname{Re} \lambda > -1$ and $i = 1, \ldots, s$.

Now assume that equation (1) holds for $-p-1 < \text{Re } \lambda < -p$ and $i=1,\ldots,s$. This is certainly true when p=0. Then with $-p-1 < \text{Re } \lambda < -p$ we have using theorem 2 $\lambda x^{\lambda-1} \alpha \delta^{(q)} = (x^{\lambda} \alpha \delta^{(q)})' - x^{\lambda} \alpha \delta^{(q+1)} = [0, h_1(\lambda, q) - h_1(\lambda, q+1), \ldots, h_s(\lambda, q) - h_s(\lambda, q+1),$

$$-h_{s+1}(\lambda,q+1)],$$

where

$$h'_{i}(\lambda, q) - h_{i}(\lambda, q+1) = \lambda \frac{(-1)^{q+i} \cdot \Gamma(\lambda+s-i+1)}{(s-i+1)! \Gamma(s-\alpha-i+2)} \cdot \int_{0}^{1} u^{s-\alpha-i+1} \rho^{(s+1)}(u) du \cdot \delta^{(s-i+1)} = \lambda h_{i}(\lambda-1, q)$$
for $i=1, \ldots, s$ and

$$-h_{s+1}(\lambda, q+1) = \left\{ \frac{(-1)^{q+s+1} \cdot \Gamma(\lambda+1)}{\Gamma(1-\alpha)} \cdot \int_{0}^{1} u^{-\alpha} \rho^{(s+1)}(u) du \right\} \delta = \lambda, h_{s+1}(\lambda-1, q).$$

Equation (1) follows now by induction, since we got it for $-p-2 < \text{Re } \lambda < -p-1$ and $i=1,\ldots,s+1$.

We will suppose that $\operatorname{Re} \lambda > -1$ and put $(x_+^{\lambda})_n = x_+^{\lambda} * \delta_n(x) = : c_n(x)$, so that $c_n^{(i)}(0) = (-1)^i n^{i-\lambda} \cdot \int_0^1 u^{\lambda} \rho^{(i)}(u) du$.

Then

$$(\delta^{(q)}, (x_{+}^{\lambda})_{n} \varphi) = (-1)^{q} \cdot \sum_{i=0}^{q} {q \choose i} \cdot c_{n}^{(i)}(0) \cdot \varphi^{(q-i)}(0) = \sum_{i=0}^{q} {q \choose i} n^{i-\lambda} \cdot \int_{0}^{1} u^{\lambda} \rho^{(i)}(u) du(\delta^{(q-i)}, \varphi)$$

$$= \sum_{i=0}^{q} {q \choose i} (-1)^{s-i} n^{i-\lambda} \frac{\Gamma(\lambda+1)}{\Gamma(s+\lambda-i+1)} \cdot \int_{0}^{1} u^{\lambda+s-i} \rho^{(s)}(u) du(\delta^{(q-i)}, \varphi)$$

$$= \sum_{i=s-q}^{s} {q \choose s-i} (-1)^{q+1} n^{\alpha+i} \frac{\Gamma(\lambda+1)}{\Gamma(s-\alpha-i+1)} \int_{0}^{1} u^{s-\alpha-i} \rho^{(s)}(u) du(\delta^{(s-i)}, \varphi)$$

and equation (2) follows for Re $\lambda > -1$ and $i=1, 2, \ldots, s$.

Now assume that equation (2) holds for $-p-1 < \text{Re } \lambda < -p$ and $i=1,\ldots,s$. This is certainly true when p=0. Then with $-p-1 < \text{Re } \lambda < -p$ we have using theorem 2 $\lambda \delta^{(q)} \alpha x_+^{\lambda-1} = (\delta^{(q)} \alpha x_+^{\lambda})' - \delta^{(q+1)} \alpha x_+^{\lambda} = [0,\ldots,0,k'_{s-q}(\lambda,q) - k_{s-q}(\lambda,q+1),\ldots,k'_s(\lambda,q)$

$$-k_s(\lambda, q+1), -k_{s+1}(\lambda, q+1)] = \lambda [0, \dots, k_{s-q+1}(\lambda-1, q), \dots, k_{s+1}(\lambda-1, q)]$$

and equations (2) follow for $-p-2 < \text{Re } \lambda < -p-1$ and $i=1,\ldots,s+1$. The result follows by induction. This completes the proof of the theorem.

The next definition was given in [3].

Definition 6. Let f_{λ} be a distribution depending on a complex parameter λ . Then f_{λ} is said to be an analytic function of λ on a domain D if (f_{λ}, φ) is analytic on D for all test functions φ with compact support. If D is the whole complex plane, then f_{λ} is said to be an entire function of λ . If $f_{\lambda} = [f_0(\lambda), f_1(\lambda), \ldots, f_r(\lambda), \ldots]$ is a distribution vector and $f_r(\lambda)$ is an analytic function of λ on a domain D for $r = 0, 1, \ldots$, then f_{λ} is said to be an analytic vector function of λ on D. If $f_r(\lambda)$ is an entire function of λ for $r = 0, 1, \ldots$, then f_{λ} is said to be an entire vector function of λ .

We now define the distributions f_{+}^{λ} by

 $f_+^{\lambda} = \delta^{(-\lambda - 1)}$ for $\lambda = -1, -2, \ldots$, and $f_+^{\lambda} = \frac{x_+^{\lambda}}{\Gamma(\lambda + 1)}$ for $\lambda \neq -1, -2, \ldots$, and the distributions f_-^{λ} by

$$f_{-}^{\lambda}(x) = f_{+}^{\lambda}(-x).$$

Then f_+^{λ} and f_-^{λ} are entire functions of λ , see [5].

Theorem 6. Let λ , μ be complex numbers such that $\text{Re}\,\mu = -1, -2, \ldots$, $\text{Re}\,\mu < -1$ and let $s = [\text{Re}\,(-\mu)], \alpha = -\mu - s - 1$. Then the α -product $f_+^{\lambda} \alpha f_-^{\mu - \lambda}$ of the entire functions f_+^{λ} and $f_-^{\mu - \lambda}$ exists as a distribution vector and

$$f_+^{\lambda} \alpha f_-^{\mu-\lambda} = g(\lambda, \mu) = [0, g_1(\lambda, \mu), \dots, g_s(\lambda, \mu)],$$

where $g(\lambda, \mu)$ is an entire vector function of λ and

(3)
$$g_{i}(\lambda, \mu) = \{ \frac{(-1)^{i} \cdot \Gamma(\lambda + s - i + 1)}{(s - i)! \cdot \Gamma(s - \alpha - i + 1) \cdot \Gamma(\lambda + 1)} \cdot \int_{0}^{1} u^{s - \alpha - 1} \rho^{(s)}(u) du \} \delta^{(s - i)}$$

for $i=1,\ldots,s$. Proof. With λ , $\mu-\lambda=-1$, $-2,\ldots$, we have by theorem 4 that the α -product $f_+^{\lambda} \alpha f_-^{\mu-\lambda}$ exists and

$$f_{+}^{\lambda} \alpha f_{-}^{\mu-\lambda} = \frac{x_{+}^{\lambda}}{\Gamma(\lambda+1)} \alpha \frac{x_{-}^{\mu-\lambda}}{\Gamma(\mu-\lambda+1)} = [0, g_{1}(\lambda, \mu), \dots, g_{s}(\lambda, \mu)],$$

where

$$g_i(\lambda, \mu) = \frac{h_i(\lambda, \mu - \lambda)}{\Gamma(\lambda + 1) \cdot \Gamma(\mu - \lambda + 1)} = \left\{ \frac{(-1)^i \cdot \Gamma(\lambda + s - i - 1)}{(s - i)! \cdot \Gamma(\lambda + 1) \cdot \Gamma(s - \alpha - i + 1)} \cdot \int_0^1 u^{s - \alpha - i} \rho^{(s)}(u) du \right\} \delta^{(s - i)}$$

for $i=1,\ldots,s$. Equation (3) follows for $\lambda, \mu-\lambda \neq -1, -2,\ldots$ Using theorem 5 with $\mu-\lambda=-1, -2, -q-1$ and $\lambda \neq -1, -2,\ldots$, we have

$$f_{+}^{\lambda} \stackrel{d}{=} f_{-}^{-q-1} = \frac{x_{+}^{\lambda}}{\Gamma(\lambda+1)} \stackrel{d}{=} (-1)^{q} \delta^{(q)} = [0, f_{1}(\lambda, q), \dots, f_{s}(\lambda, q)],$$

where

$$f_i(\lambda, q) = \frac{(-1)^q h_i(\lambda, q)}{\Gamma(\lambda + 1)} = \{ \frac{(-1)^i \cdot \Gamma(\lambda + s - i + 1)}{(s - i)! \Gamma(s - \alpha - i + 1) \cdot \Gamma(\lambda + 1)} \cdot \int_0^1 u^{s - \alpha - 1} \rho^{(s)}(u) du \} \delta^{(s - i)} = g_i(\lambda, \lambda - q - 1)$$

for $i=1,\ldots,s$ and equation (3) follows for $\lambda \neq -1,-2,\ldots$ and $\mu-\lambda=-1,-2,\ldots$ Replacing x by -x in the second part of theorem 5, we have

$$\delta^{(q)} \underset{\alpha}{\alpha} x_{-}^{\lambda} = (-1)^{q+s} [0, -k_1(\lambda, q), \dots, (-1)^{l} k_l(\lambda, q), \dots, (-1)^{s} k_s(\lambda, q)].$$

It follows that with $\lambda=-1$, -2,..., -q-1, and $\mu-\lambda=-1$, -2,...,

$$f_{+}^{-q-1} \circ f_{-}^{\mu+q+1} = \delta^{(q)} \circ \frac{x_{-}^{\mu+q+1}}{\Gamma(\mu+q+2)} = [0, l_{1}(\mu, q), \dots, l_{s}(\mu, q)]$$

where

$$l_{i}(\mu, q) = \frac{(-1)^{q+s+i} \cdot k_{i}(\mu+q+1, q)}{\Gamma(\mu+q+2)} = \left\{ \frac{(-1)^{s}}{\Gamma(s-\alpha-i+1)} \left(\frac{q}{s-i} \right) \int_{0}^{1} u^{s-\alpha-i} \rho^{(s)}(u) du \right\} \delta^{(s-i)}$$

$$= \left\{ \frac{(-1)^{i} \cdot \Gamma(\lambda+s-i+1)}{(s-i)! \Gamma(s-\alpha-i+1)\Gamma(\lambda+1)} \cdot \int_{0}^{1} u^{s-\alpha-i} \rho^{(s)}(u) du \right\} \delta^{(s-i)} = g_{i}(-q-1, \mu)$$

for $i=s-q,\ldots,s$ and

$$l_i(\mu, q) = 0 = g_i(-q-1, \mu)$$

for $i=1,\ldots,s-q-1$. Equation (3) follows for $\mu-\lambda \neq -1,-2,\ldots,\lambda=-1,-2,\ldots$ We have therefore proved that $f_+^{\lambda} = g(\lambda,\mu)$ for $\text{Re } \mu \neq -1,-2,\ldots,\lambda=-1$, and $\text{Re } \mu < -1$. Since $\frac{\Gamma(\lambda+s-i+1)}{\lambda(\Gamma+1)} = \prod_{j=1}^{s-i} (\lambda+j)$ for $1 \leq i \leq s-1$, respectively 1 for i=s, it follows that $g(\lambda,\mu)$ is an entire function of λ . This completes the proof of the theorem.

REFERENCES

B. Fisher. On defining the product of distributions. Math. Nachr., 99, 1980, 239-249.
 B. Fisher. Products of distributions defined by a vector. — In: Proceedings of the International Convergence on Complex Analysis and Applications, Varna 1985. Sofia, 1986, 212-218.
 B. Fisher. Products of distributions that are entire functions of a complex parameter. (Proceedings)

of the International Symposium on Complex Analysis and Applications. Budva (1986)). Mat. Vesnik, 38, 1986, 425-435.

4 B. Fisher, A. Takači. On α-products of distributions. Univ. u Novom Sadu, Zb. Rad. PMF, Ser. Mat.. 16, 1986, No 2 (to appear).

5. I. M. Gel'fand, G. E. Šilov. Generalized Functions, Vol. 1, New York, 1964.

Received 25. 8. 1987

Dept. of Mathematics Leicester University LE 1, 7 RH Great Britain

Institut za matematiku Ilije Djurićiča 4 21.000 Novi Sad Yugoslavia